The Primary Shakespeare Company (PSC) are practising Act 5, Scene 3. They need to ensure they have all of the props ready for when the actors arrive so they visit a prop hire company. Help the PSC to work out the following problems so they know how many props they’ll have… 
[image: Beauty, Lipstick, Skincare, Cosmetic, Lips, Red, Makeup][image: Building Blocks, Packages, Delivery, Computer, Three][image: Flowers, Bouquet, Flora, Bloom, Flower, Garden, Sketch][image: Lantern, Light, Oil Lamp, Black, Metal, Flame][image: Sand, Shovel, Tool][image: Yew, Taxus Baccata, Green, Red Fruit, Common Yew][image: Torchlight, Torch, Fire, Light, The Torch][image: Burial, Cemetery, Cross, Dead, Death, Grave, Graveyard][image: Tombstone, Halloween, Creepy, Dead, Death, Grave][image: Apple, Blossoms, Flowers, Nature, Fruit Tree, Spring][image: Tool, Pick, Pickaxe, Pickax, Handtool, Shaft][image: Crowbar, Jemmy, Pry, Prybar, Pinch Bar, Jimmy, Tool][image: Heart, Letter, Love, Mail, Valentine, Seal, Romantic][image: Money, Bag, Brown, Rope, Sack][image: Torchlight, Torch, Fire, Light, The Torch][image: Torchlight, Torch, Fire, Light, The Torch][image: Box, Open, Cardboard Box, Cardboard, Container][image: Carryout Bag, Carrier Bag, Shopping Bag, Carry-All][image: Crate, Box, Wooden, Container, Package, Brown, Shipping][image: Box, Open, Cardboard Box, Cardboard, Container][image: Box, Open, Cardboard Box, Cardboard, Container][image: Coins, Money, Pennies, Cent, Gold Coin, Silver Coin]
9.

In a crate, there are 8 shovels and 5 lanterns. The PSC need 16 shovels and 6 lanterns. They buy 2 boxes. How many extra lanterns will they                                 have?
8.
[bookmark: _GoBack]In a container there are 3 different shades of red lipstick: 1 rose, 2 burgundy and 3 sunset. If they buy 6 boxes. How many of each shade will they have?











1.

In a box, there are 5 torches. The PSC need 16 torches. How many boxes will they need to buy? 
2. 

In a bag, there are 7 yew tree branches. The PSC need 29 branches. How many boxes will they need to buy?





4.

In a bouquet, there are 5 roses and 3 lilies. The PSC buy 7 bouquets. How many roses and lilies will they have altogether? 



5.

In a crate, there are 8 mattocks and the 9 wrenching iron. The PSC buy 4 boxes. How many mattocks and wrenching irons will they have?




7.
In a bag, there are 4 gold coins, 6 silver coins and 3 bronze coins. The PSC need 13 gold, 11 silver and 10 bronze. How many bags will they have to buy?

3. 

In a crate, there are 2 tombstones and 2 crosses. The PSC want 5 tombstones and 7 crosses. How many crates will they need to purchase? 

6.

In a box, there are 14 envelopes, 15 piece of paper and 5 quills. PSC want 13 quills. How many envelopes will they also have to purchase?
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